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#include <stdio.h>
#define N 8
int main()
{
inti;
intj;
intk;

return O;
}
2. SERRRFE,  SEIUN B B e HE
#include <stdio.h>
void sort();
int main()
{
intarray[]={45, 56, 76, 234, 1, 34, 23, 2, 3}: [IFFATIEL T
sort();
return O;

}

void sort()

{
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#include <stdio.h>
int Pheponatch(int);
int main()
{
printf("The 10th is %d",Pheponatch(10));
return O;

}
int Pheponatch(int N)

{

}
4. TFHREFPIZATIN S i, SRRSO SUE, IF B BRI
#include <stdio.h>
#include <malloc.h>
typedef struct{
TNode* left;
TNode* right;
int value;
} TNode;
TNode* root=NULL;
void append(int N);
int main()
{
append(63);
append(45);
append(32);
append(77);
append(96);
append(21);
append(17); // Again, %r7AT =4 H!
}
void append(int N)
{
TNode* NewNode=(TNode *)malloc(sizeof(TNode));
NewNode->value=N;
if(root==NULL)
{
root=NewNode;
return;

}



right

else

{

TNode* temp;
temp=root;

while((N>=temp.value && temp.left!=NULL) || (N<temp. value && temp.

I=NULL
)

{

while(N>=temp.value && temp.left!=NULL)
temp=temp.left;

while(N<temp.value && temp.right!=NULL)
temp=temp.right;

}

if(N>=temp.value)
temp.left=NewNode;
else
temp.right=NewNode;
return;

}
}
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intb;

Aconst int* a = &b;

B const* int a = &b;

C const int* const a = &b;

D int const* const a = &b;

8. WIKRREA g PN & S B A A ?

void g(base & b){

b.play;

}

void main(){

son s;

a(s);

return;

}
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1. Briefly describe what is blanking(cutting), forming, coining and embosing in stamping
process.

2. What is metal clading?

3. What is the purpose of adding glass fiber to thermoplastic material?

4. In contrast with metal and thermoplastic material, which has a higher coefficient of
thermal expansion(CTE).

5. The most suitable material for a integral hinge design (typical plastic thickness=0.25 to
0.5mm at hinge)

6. Can a bending load makes both compressive and tensile stress in a member?

7. What is the design criteria used in plastics catch/snap?

8. What is FEA?

9. Why is natural frequency important in vibration analysis?

10. What is the deflection equation of a cantilever beam fixed at one edge ?

EE 2l
1. Name 3 Vehicle Buses.
2. Name 2 possible sources of Electromagnetic interference on Electronics Circuit ASM.
3. Wavelength for 12MHz frequency signal is__
4. Name 2 important considerations for car radio performance related to audio signal
processing under multipath condition?
5. What is the typical FM receiver RF signal strength to achieve 30dB S/N for car radio?
6. When a radio is tuned to 98.1 MHz & with a LO of 108.8 MHz, what is the image
frequency?
7. For a system with a matched impedance, what is the Reflection Coefficient and SWR?
8. Which property of the output capacitor is the primary cause of Low Drop Out(LDO)
regulator loop instability?
(1) Equivalent series resistance(ESR)
(2) Effective series inductance(ESL)
(3) Capacitance value
(4) Dielectric material
9. The switching regulator is capable of:



(1) Higher power conversion efficiency
(2) Providing an output voltage that is higher than the input
(3) Generating an output boltage oppsite in polarity to the input
(4) All of the above
10. A linear regulator op Vin(max) = 10v, Vout(min) = 4.8v, lout(max) = 2. 5mA, Ig(max) =
2.5mA, Ta(max) = 8.5 fk[GJE, The regulator is available in 3 packages.Each package has the
following thermal characteristics:
Package Rja (F%ICEE/MW)  Rjc (FEICE/W) S014 125 30 D1P8 100 52
Choose the most suitable package to handle the power dissipation requirement without a heat
sink and why.

L/CE PN
1. How do you code an infinite loop in C?
2. Volatile:
(1) What does the keyword volatile mean? Give an example
(2) Can a parameter be both const and volatile? Give an example
(3) Can a pointer be volatile? Give an example
3. What are the values of a, b, and c after the following instructions:
int a=5, b=7, c;
C =at+++b;
4. What do the following declarations mean?
(1) constinta;
(2) intconsta;
(3) const int *a;
(4) int* consta;
(5) int const * a const;
5. Which of the following statements describe the use of the keyword static?
(1) Within the body of a function: A static variable maintains its value between function
revocations
(2) Within a module: A static variable is accessible by all functions within that module
(3) Within a module: A static function can only be called by other functions within that
module
6. Embedded systems always require the user to manipulate bits in registers or variables.
Given an integer variable a, write two code fragments. The first should set bit 5 of a. The
second shnuld clear bit 5 of a. In both cases, the remaining bits should be unmodified.
7. What does the following function return?
char foo(void)

{
unsigned int a = 6;
iht b = -20;
char c;
(a+b >6) ? (c=1): (c=0);
return c;

}



8. What will be the output of the following C code?
main()
{
int k, num= 30;
k =(num >5 ? (hum <=10 ? 100:200): 500);
printf( “%d” , k);
}
9. What will the following C code do?
int *ptr;
ptr =(int *)Ox67a9;
*ptr = Oxaa55;
10. What will be the output of the follow C code?
#define product(x) (x*x)
main()
{
inti=3,j,k;
j = product(i++);
k = product(++i);
printf( “%d %d” ,j,k);
}
11. Simplify the following Boolean expression
(i ==12) || G > 15))
12. How many flip-flop circuits are needed to divide by 16?
13. Provides 3 properties that make an OS, a RTOS?
14. What is pre-emption?
15. Assume the BC register value is 8538H, and the DE register value is 62 A5H.Find the
value of register BC after the following assembly operations:
MOV A,C
SUB E
MOV C,A
MOV A.B
SBB D
MOV B,A
16. In the Assembly code shown below
LOOP: MVI C,78H
DCRC
JNZ LOOP
HLT
How many times is the DCR C Operation executed?
17. Describe the most efficient way (in term of execution time and code size) to divide a
number by 4 in assembly language
18. what value is stored in m in the following assembly language code fragment if n=7?
LDAA#n
LABEL1: CMPA #5



BHI L3
BEQ L2
DECA

BRA L1

LABEL2: CLRA

LABEL3: STAA#m

19. What is the state of a process if a resource is not available?

#define a 365*24*60*60

20. Using the #define statement, how would you declare a manifest constant that returns the
number of seconds in a year? Disregard leap years in your answer.

21. Interrupts are an important part of embedded systems. Consequently, many compiler
vendors offer an extension to standard C to support interrupts. Typically, the keyword is
__interrupt. The following routine (ISR). Point out problems in the code.

__interrupt double compute_area (double radius)

{

double area = Pl * radius * radius;
printf( “\nArea = %f” , area);
return area;

}

Hongkong Bank 25 /%

1. Please state why you chose to follow these activities and how they have contributed to
your personal development. You may wish to give details of your role whether anyone else was
involved and any difficulties you encountered.

2. Please state how you have benefited from your work experience.

3. How much is your present monthly salary including allowances.

4. Do you need to compensate your present employer if you resign? If so, please give details.

5. Other than academic success, what has been your greatest achievement to date? What do
you see as your personal strength, why?

6. Please state why the position you have applied for is appropriate for you; Why you have
selected HongKong Bank and what your career objectives are.

A.T. Keaney &R

1. Describe your greatest achievement in the past 4-5 years?

2. What are your short-term and long-term career objectives? What do you think is the most
ideal job for you?

3. Why do you want to join A.T kearney? What do you think you can contribute to A.T
kearney?

4. Why are you applying for a position at Arthur Anderson?

5. What are your expectations of our firm.



6. Describe your hobbies and interests.

Shell company 23R

1. How wold your colleagues/classmates describe you in five words? On what evidence
would they base this assessment.

2. If you are asked to recruit the best graduates for shell, what would you do to attract them?
What would you do to select them?

3. Please describe a new activity that you have initiated and implemented. Please highlight
your role out.

4. Please describe your outstanding non-academic achievements.

5. Please describe any other significant activities you have been involved in including
organizing people.

6. Imagine that Shell has found oil in an inland province of China, near a large river. You are
responsible for planning how to transport the oil to the coast thousands of miles away. What are
the main issue you would consider, and what would you do?

KPMG &R

“The big economic difference between nuclear and fossil-fuelled power stations is that
nuclear reactors are more expensive to build and decommission, but cheaper to sun. So disputes
over the relative efficiency of the two systems revolve not just around prices of coal and uranium
today and tomorrow, but also around the way in which future income should be compared with
current income.”

1. The main difference between nuclear and fossil-fuelled power stations is an economic one.

TRUE

UNTRUE

CANNOT SAY

2. The price of coal is not relevant to discussions about the relative efficiency of nuclear
reactors.

TRUE

UNTRUE

CANNOT SAY

3. If nuclear reactors were cheaper to build and decommission than fossil-fuelled power
stations, they would definitely have the economic advantage.

TRUE

UNTRUE

CANNOT SAY

“At any given moment we are being bombarded by physical and psychological stimuli
competing for our attention. Although our eyes are capable of handling more than 5 million bits of
data per second, our brain are capable of interpreting only about 500 bits per second. With similar
disparities between each of the other senses and the brain, it is easy to see that we must



select the visual, auditory, or tactile stimuli that we wish to compute at any specific time.”
4. Physical stimuli usually win in the competition for our attention.
TRUE
UNTRUE
CANNOT SAY
5. The capacity of the human brain is sufficient to interpret nearly all the stimuli the senses
can register under optimum conditions.
TRUE
UNTRUE
CANNOT SAY
6. Eyes are able to cope with a greater input of information than ears.
TRUE
UNTRUE
CANNOT SAY
VERBAL ANSWER:
(1) C CANNOT SAY
(2) BUNTRUE
(3) ATRUE
(4) C CANNOT SAY
(5) BUNTRUE
(6) C CANNOT SAY

Part I NUMERCAL TEST

1. Which country had the highest number of people aged 60 or over at the start of 1985?

A. UK

B. France

C. ltaly

D. W.Germany

E. Spain

2. What percentage of the total 15mm button production was classed as sub-standard in
September?

AA 10.5% BB 13% CC 15% DD 17.5% EE 20% AB 23.5% AC 25%

AD 27.5% AE 28% BC 30.5%

3. How many live births occurred in 1985 in Spain and Italy together (to the nearest 1000)?

A. 104 000

B. 840 000

C. 1044 000

D. 8 400 000

E. 10 440 000

4. What was the net effect on the UK population of the live birthand death rates in 1985?

A. Decrease of 66 700

B. Increase of 752 780

C. Increase of 84 900

D. Cannot Say



E. Increase of 85 270

5. By how much did the total sales value of November ‘s button production vary from
October*s?

A. 8.50 (Decrease)

B. 42.50 (Decrease)

C. 85.00 (Increase)

D. 27.50 (Decrease)

E. No change

6. What was the loss in potential sales revenue attributable to the production of sub-standard
(as opposed to standard) buttons over the 6 month period?

A. 13.75

B. 27.50

C. 137.50

D. 280.00

E. 275.00
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1. Based on your understanding of the following java related technologies:
servlets, JavaServerPage, JavaBeans, Enterprise JavaBeans, how do you think these technologies
are work together or are applied in the development of an in ternet-based application (25marks).

2. In your opinion ,what do you think are the advantages or benefits of using an
object-oriented approach to software development? how do you think those benefits can be
achieved or realized? (15marks).

3. In designing your classes, given the choice between inheritance and aggregation which do
you choose (15marks).

4. How would you work around the lack of multiple inheritance feature in Java (15marks).

5. What would you consider to be the hardest part of OO analysis and design and why
(10marks).

6. How do you keep yourself up to date with the latest in software techonogy, especially in
the field of software development (10marks).

7. What si your career aspiration? Why do you think this E-Commerce Development Center
can help you in achieving your career goals (10marks) (1hr, answer in English).

ORACLE H%&iR 8

1. Would you please describe yourself in 3-4 lines? (limited in 500 words)

2. Could you tell us why we should choose you as a Loreal Person, and what makes you
unique? (limited in 500 words)

3. What is your short-term and long-term career plan? (limited in 500 words)

4. What kind of group activities are you interested in and what type of role do you often play?



(limited in 500 words)
5. Please use one sentence to give a definition of ‘Beauty’ , and describe the most beautiful
thing in your life. (limited in 500 words)

YR VERITAS 3R

1. A class B network on the internet has a subnet mask of 255.255.240.0, what is the
maximum number of hosts per subnet .

a. 240 b. 255 c. 4094 d. 65534

2. What is the difference: between o(log n) and o(log n"2), where both log arithems have
base 2 .

a. o(log n”2) is bigger b. o(log n) is bigger c. no difference

3. For a class what would happen if we call a class’ s constructor from with the same class’s
constructor .
. compilation error b. linking error
. stack overflow d. none of the above
inc++isa:.

o]

113 ”»

c
4. “new
a. library function like malloc in ¢
b. key word c. operator
d. none of the above
5. Which of the following information is not contained in an inode .
a. file owner b. file size
. file name d. disk address
6. What’s the number of comparisons in the worst case to merge two sorted lists containing n
elements each .
a.2n b.2n-1 c.2n+1 d.2n-2
7. Time complexity of n algorithm T(n), where n is the input size ,is T(n) =T(n-1)+1/n if n>1
otherwise 1 the order of this algorithm is .
a.log (n) b.nc.n?2d. n"n
8. The number of 1’ s in the binary representation of 3*4096+ 15*256+5*16+ 3 are .
a.8b.9c.10d.12
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1. Select ONE of the following projects to discuss:

a. Signal Filtering: You are given a sampled real time waveform consisting of a sensor
reading mixed with highly periodic impulses and high frequency noise. The desired output is the
real time filtered sensor signal with the impulses and noise removed, and a readout of the impulse
period. The FFT may not be used.

b. Interrupt Processing. A headware register consisting of eight independent edge triggered
latches is used to record external asynchronous interrupt requests. When any of the request bits are
latched, a software interrupt is generated. The software may read the latch to see which interrupt(s)
occurred. Writing a one to any latch bit will clear the latch. How does that software assure that no
interrupt request is ever missed?

c. User Interface: a prototype MP3 player interface consisting of a playlist display and a few
control buttons is given to you. How would you make the interface “skinnable”, with user selected
graphics, options, and control button placement?

Each project description is incomplete. What questions would you ask to completely specify
the project? What development tools would you prefer to use?

What algorithm /data structures/design would you use?

2. What program(s) have you coded for you own enjoyment (not part of a school project, not
for pay). What type of software project would you most enjoy working on?

3. Have you participated in a team programming project? What is the hardest part of
programming as a team, as opposed to programming alone?
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1. Queue is a useful structure

* What is a queue?

* Write 5 operations or functions, without details, that can be done on a queue.

2. Insert a sequence fo keys(24,49,13,20,59,23,90,35) into a data structure, which has no keys
initially. Depict the data structure after these insertions, if it is:

* a heap tree

*an AVL tree

3. * What is a synchronous 1/0 bus?

* What is an asnchronous 1/0O bus?

* Compare the advantages and disadvantages of synchronous and a synchronous 1/0 bus.

4. Explain the following terminology:

* Baud rate

* Handshaking

* Memory mapped 1/0

5. Explain the key issues in supporting a real-time operation system for embedded system.

6. Explain the mapping of visual addresses to real addresses under paging by

* direct mapping

* associative mapping

* combined direct/associated mapping

7. Please explain what is “write-back” and “write-through”, and discuss the advantage and
disadvantage about these two methods.

8. Explain the concept and benefit of threads

9. What is hardware interrupt? What is software interrupt? What is exception? Please tell me



all you know about interrupt.

10. Write a recursive function that tests wether a string is a palindrome. A palindrome is s
string such as “abcba” or “otto” that reads the same in both directions. If you can write this
function recursively,you can write an iterative version of this function instead.

11. 423 (Process) FIZEFE (Thread) ? A fa[[X 52

12. MFC #1 SDK A fi] X 5] 2

13. IRP &A1A? FHfAEH]?

14. Windows 2000 # 1 F 48 T HI A ONT Y AZ AL 2 A A 4T X531 2

15. SK&EIFESF ) BUFFER fE swap SREAE 1202 JyfhA4?

16. k4’5 3 MR EEIL

(1) gL R
(2) FAN—D
(3) MBR—A9 A

17. faji& Hardware interrupt £l software 5 Wr (KX 51, &k H N

18. WgiE — ek, THEAER BT A KA

19. i Y A AR BTG 'S — A R BB — NS BRI e e, it 6,
110,

20.

(D g5 — MR E, MER—DH .
(2) 45— AR IHREL MR —A H k.
I fE

21, M AR R )

i85 H

H mos B H—A A S5HET,

AR AT BOSOU R, S HAROCI T A

fift ¥ 41 IRQ, BIOS, USB, VHDL, SDR.

faj 3R W1~ Unix 74> cp -r, rm,uname.

HE BN D fil k4% 1 fg

5yl D il k#4319 verilog module .

What is PC Chipset?

FAE 1 IRME] ) 2545 — AN il R 45

HARASHL, 52 1, 2, 578N, BHRIRAR 5 k.

© 00 N o OB~ W DN P

DSP & H

1. H (n) ??2a*h (n?1) +b* 5 (n)

(D Kh (n) 1z

(2) ZRGRNNIEERL

(3) Gl FIR BUr Ik S 1 225 Jr i

2. SNSRI s R
(1) BHUE 5 ARG HZ 0~4kHz

(2) BHUE 5 ARG HZ 2~4kHz

3. AR

(1) BEHIRE



(2> HITK

(3) [~y

(4) MMX

4. SHR LR A 2R R A BeR
(1) JPEG

(2) MPEG2

(3) MP3

EPLESNF ¥

1. Can you describe the trend of wireless mobile communication industry? ( 2000 letters)

2. Compare the major third generation technologies.(2000 letters)

3. Describe the characteristics of Walsh function. Explain how to generate Walsh Function.
(2000 letters)

4. List factors that will affect the capacity of forward and reverse links of a CDMA system.
(2000 letters)

5. What are the differences between 1S-95 A/B and cdma2000 1X? (2000 letters)

Bk 2R

2002 FFER AT R

1. =4EFe, #RHIRIAH IR

(1) a.c long temp[255];

b.c extern *temp;

(2) a.c long temp[255];

b.c extern temp[256];

(3) a.c long temp[255];

b.c extern temp[];

2. (R —AAWAbGR R T AR R, A A

#include <stdio.h>

#include “myfunl.h”

#include “myfun2.h”

int myint1;

int myInt2;

3. printf( “0x%x” , (&0)[?1]); Wi MI4TEN TAH4?

4. %%, JH ax,bx,cx,dx, 3R 1000X1000/30 (DY FAN), &5 HIAE ax i

5. %idfli1k Bubble(int *pIntArray,int L), ZEKATHITCRAGEHIIMN AL &, QR 77
B

6. HMEE—MgIEE S5 n Ak,

2003 Asic B4y



— DY) Mux, HHA T gE 58 RBME S, WA 2 timing ?
—MIRSHLRE H H Verilog 5281
Asic H[1 design flow #5231,
FHIZHE T D ik 45

5. ZHIEEA— I RIS &, A Tsetup, Tdelay, Tck?>q itfg clock [ delay, i
YeE ORI B IR 25, R 45 Rk 2.

6. H CiEF IS HA cell 7EK.v U RS

7. Cache [ EZHE 5.

A W N e

2003 EE £ i@ H

1. SHERAK.

2. HHAPRHBAEAL.

3. P R FIHLZS C B3, HIAHLE A R A C Z S, St s 50 C B
AR B FR, BRI P A B AN RS R0, ) Ik o P LI ] D vl R s, ]
AR YE WAk . M RC<<T I, gy AR RIETEE, Zhl i e s it i e

4. GHINELE S, KREERE.

5. Zt— WS, KRG HME &, IS AL AR B R SR A
YT A S B VR T LR B — VR I, I S 1 A R

6. A —IHEAE 5 S=VO0sin(2pifot)+Vicos(2pifit)+V2sin(2pif3t+90), ‘5 Hi >4 Huf i ik iE .
O e A IS AR S R T

7. Wl 2zEr s, SR AR YHRT Y2, SRILEL B A

8. LM B AHE (K L, ARYRINTRh T, 1 &b, %84k
LTHFE. o rIE R BB I, R i 2 iy g JE ]

9. REAHIIIE AR, 45T — MBI .

10. 45— ANHERRIN LR, KW E SR R, T2 B HERR IR [ bbb A7 T3C7E AR g

M1k Id A2 v o

2003 Graphic Z&if /% H

1. W%

(1) texture mapping s&ft4? AftA B filter?

(2) H float 1 int F£7m—AN%, Lol 2, B0 ORISR 25

(3) 7 MPEG W73 ] L A4 2

(4) f#% cubic F1 B-spline 1255, 5 H& A B

(5) 5 LA Win API H ] OpenGL B %5 .

(6) it il 52 AN R T /NN IR L e A

(7) i 2R n] DAL Le MPEG Hr 42

(8) it Bezier A1 B-Spline ik 11X 5.

2. FE R ERAIW— N BRI 2 I3RE0CR

3. S23E8 Fl S10E5 Pyl s /s I 40 #T, #om 0.25 '5—/M S10E5, L3 S23E8
L2Z

4. FHBERRIR 77 S = A R KA

UH & URR IEEE 16 1 32 V% s /R LTS, ZEK0K:20.25 437 H IEEE 16 Fil 32 &

INIFE A CH+ER B I NI |IEEE 16 KR #4k 4 |EEE 32 [ 7R,

6. MCHETES MEEF (X0 ?2x*0.5 %k HAETBEIRE.



2003 Software Engineer &1/

1. Describe x86 PC’ s architecture in a diagram cpu, core chipset, Cache, DR AM,
10-subsystem, 10-Bus

2. SWl instruction is often called a “supervisor call” , describe the act ions in detail

* Save the address of the instruction after the SWI in rl4_svc.

* Save the CPSR in SPSR_svc.

* Enter supervisor mode and disable IRQs.

* Set the PC to 08 and begin executing the instruction there.

3.

* What is P10 operation? advantage and disadvantage?

* DMA operation? advantage and disadvantage?

* Scatter/Gather DMA engine? how does it operate?

4. MP3 decoder related. (a flow chart of decoding is presented)

* advantages of Huffman encoding?

* why the aliasing reduction is necessary?

* analytical expression in mathematics of the IMDCT?

* which block in the flow chart is suitable for the software implementatio n and which for the
hardware? why?

5. Assembly codes -> C language (about 15 lines).

6. Graduation thesis description.

WEE R

BTN CBECRA . BUG AR EEZS) AR

R

A REIE B BN FEA BT A T S 8. DRIt FEAEAA I ) AR 2%,
TnT LU R R AT R R RES [R5 (1) I . SUVFSBAT R I PORE,  (HIEMAT 58 ik
PATTHE R F AT 1R S R G T A A o AR AR TRAT 51 FH B A s AR IR — Al o 1Y
B e RN B 381 R 2 3 8 4 1) A

1. AT e SRR R O 24, (HACT 2 AT AR SRR R A AR X
PR EGE AR —J7 1) CandRacii il MBI S PRI, HARTE S M D
() JRARDLAT IR o FF B AR SRARKE %7 I (S, ARAT WA T, DU A
R AE | By e KPR e 2 1A NV B R 4o B o Ay e SR i PR S /) ST R < s 8 4
(500 “FLANEIA], ANZKD

2. fRIA R THAT— 35 ) 32 RS AE AL el = 0 (500 “FLAP EPT], ANEIK KD

(1) David Marr FJRLSE THE FRAESE

(2) #AE (Gestalt) OrFH2-IR I =B A

(3) Bayes MhHHS

(4) N LMWL BP M. HEHZUN 4RI IZ 2% i = B A 7%

(5) PRI

(6) /NEHT

(7D HETRAT A S B R 46 5 %



3. BAVRE Bt — ANk, Rl g5 1 B G PR A R S5 - BT 2R R AT RE 7
SR, WM RIFIENES . ZORIRI AL 2D RER I FEA R AT, M4t fih
MERARFETE G . FEIRRIR N LB NTT AR A, ZERARISIERE I 21X S8 24

BRERARAN A 3ZA [ A HE T AN REAF o, T BERA P

AT TT RN ST S

U‘Etﬁ:

RIS I I FANSE T S AR S i is. DRIE, IFARBTA (¥ 1) A 5
e, AT LRI R AE RS M5 1 . SEVFSHAEREINBORE,  (HIFARAL 58
SRR, BT R E EAL  JE S R KR o AR AR BRATT R s AN sk T s Frg e
Ak

I SR A TT R N 53 3 U [ 500 3 o )

1. B2 ARG A CIngdl, BAB, 4D X BT R BAT H o EE A, ik
XTURBIT T A PR 88 oA il G5 A0 IS AT SEE A il A3 N T d 5 45 05 T B AT ] 20 23 H

2. BB ARG — D AEF R E RS, JLTPrA LN A A AR el
D MY B T B0 18 o ) S YR U P v PR N IR [, DL I e ? g
PRI BT A28 (1 DBMS, EE5R— i Fl TN, g — Pl TR A, 45 Rty 2k
PR

3. HEAFM IS EIRME WWW BT E-mail fR%s, TR E, AT ERERA
AP P BEMRIRLUT R AL, R ARG ER WA 2080 E-mail i I E, JFx
prife SRR o3 9 B FR SOAUE A A REVT R, 3 A IR B2 1 A iR 12 R Ge kA7 73 A st
v ARATRARE PSS CEAEPS0, (H 2GR UE M BE RT3 i 9 5T Chitp 7520
Yo HfEE, el iER Outlook WCHRAFfF. W MTIZRGTHIWIATYE, AIATIN 45 AR e K A
EE IAERE, AR ARG IO RN R Tk CIBCBERR ST IR ) L 20 Ak o)

BT RN B AR

Wi :

AR I I EATE AT A ARRE T R Ak . DRI, FEAE T A 1 ) 5 22 m] %,
fn] LU R R BT PR I RERS RIS I [ L. R F S AT R MYk, (HIE MO e s ikl
PATEE R B AT ) S RGN R Al e AR AR BAT S B AN SIS I ME— AR

I gy AR A T e N 3 3 15 [P X 3 4 1) R

1. R —SESEA 7 A R S R ) R, 17 ) ]

(1) fF4 2 Setup F1 Holdup Ff i) 2

() Mg 5ERME? BFEAIE? afikR?

(3) V1 ] D fil ke #5 S 2 £ 3 A1) 18 4 PRI

(D) ftast “457 @ e, MmOt EAHa RREisk?

(5) MR AR B2

(6) T H A LE L, R R N R A S DR R (BRI, i
T PTAEds / Z2rhds).

(7) PRENGEWFLSH FH 2 8 H T2 TTL 5 COMS Hi~F-A] L 4 T34 2

2. YRGS AR IACH R R BORBR 1 )

(1) AR A I P S P 28 4 A A AT R e 2

(2) {1 VHDL H{ Verilog, ABLE #ii& 8 {i7. D filt /i #4245

3. BWRVRE I 5E R — N P T 5. 1ERIIAH EDA K (4 PROTEL) AT



i C WIEEELER PCB KD BB AR LA IEAN IR o AR AR T N SR LY 1)l 2

L RS BOB A BB A PR A 5] iR

1. DSP Flill AL BR A5 AE i LA A AN 2 37 1] 2 i) AR & (1) — P DSP 54 ] .
iUt 7€ ri. DSP FIVF i DSP (18 X (B vi AT T X 51D
VLSRG IR -4 B -4k R B
EEH 128, 7Y (W HEHAMS R 3w &Y. H Q15 & st 0.5 F1? 85;0.5,

A N

[ E Fr&RA R AF CICC Zid @&

1. Please tell us about an achievement that you are especially proud of be cause it was
difficult or demanding.
(1) What the objective was?
(2) Why it is important to you?
(3) How you achieved it and the obstacles that you had to overcome in order to do so?
2. What is your career plan? Three years after graduation, and five years after graduation?
3. Why are you interested in investment bank? What other industries do you also have
interests?
4. Why do you think you can be a qualified investment banker? How can you contribute in
this industry?

EH&A ZERXD

AR LA AT, LE W BUSMEARE, = N AR B 51 w18 SN,
A=A SR = NI A TN« BAARFEAEIRRF AL ] ] 53 A 75 22 I A5 AT R e A v 18] 1
Jis BTN 2 734 A A RB AN R R BEAE AT, RREERIETAOR F R 6 (1 3
i, LRI BRATAFLEI By G ] ) 5% [ 44 (SR AR AE 2N+

T R YE S AL 2

Briny A%

Vi RC 312 % 28 IR ORI T AR IR 3

ft4 & SDH?

oS, ZE 21 2 43 FEL G R 504
a=5; b=6; a+=b++; PUTH LA ?

ft 42 TDM? 414 /& CDMA?

aa b~ W N -



6. A2 RFEER?
7. M ARFRER?
8. TFEHLAI WA e LS ?

| =N TP S

P E A

1. Translation (Mandatory)

CDMA venders have worked hard to give CDMA roaming capabilities via the development
of RUIM-essentially, a SIM card for CDMA handsets currently being deployed in China for new
CDMA operator China Unicom. Korean cellco KTF demonstrated earlier this year the ability to
roam between GSM and CDMA using such cards. However, only the card containing the user’s
service data can roam-not the CDMA handset or the user’s number (except via call forwarding).

2. Programming (Mandatory)

Linked list

a. Implement a linked list for integers, which supports the insert after (insert a node after a
specified node) and remove after (remove the node after a specified node) methods;

b. Implement a method to sort the linked list to descending order.

3. Debugging (Mandatory)

a. For each of the following recursive methods, enter Y in the answer box if the method
terminaters (assume i=5), Otherwise enter N.

static int f(int i){
return f(i-1)*f(i-1);
}

Ansewr:

static int f(int i){
if(i==0){return 1;}
else {return f(i-1)*f(i-1);}
}

Ansewr:

static int f(int i){
if(i==0){return 1;}
else {return f(i-1)*f(i-2);}
}

Ansewr:

b. There are two errors in the following JAVA program:
static void g(int i){

if(i==1){return;}

if(1%2==0){g(i/2);return;}



else {g(3*i);return;}

}
please correct them to make sure we can get the printed-out result as below:
3105168421

ISP

1. P

JEH M TIT & F T E RISk B T ARSI L&, feigd b6 L
TERE WA RN o LA SRS T ARAER TS 1, b 4 R IFREGIN T T8k
FIAL, TRV RIUNAR E T TT R H PP SR 1 BeAk, Bk IR 431625 FE 1 DL [
7 Ah AEHILEME A IESTE, JTERF RS ILE MBS ERR, 5%,

2. Yufd
P BB S E 75 H . void itoa(int,char);
%ty itoa(-123,s[]) W) s= “-123” ;

U2 BB HITE 17 8 WA BIBEE &Y, i@ h b T — iy, DU N MK I ) — g H A
PRAFHS B AT RIS o — i, RAEARME, AT R A — R F . — kRN SEZ T UAEWA —
EEA, M R T, DA A ATk 2, R EI N

FHERARH Z 7 Ak . U NIPATHEE & AR, B AT LS (1)
R AYE. Bono mife 1 4380k #r, Edge T4t 2 438k iy, Adam F546 5 48k b, Larry 75
16 10 7M. AT IEE LRI AE 17 S il 2 G ARG IR 2% 28 15 SO B A > I 7
AR A R AR T TE A, e SRR AR 19 B IR, SR AR At R (1) 45 R
o AT D

A FE]B s

1R 232 2% 2

21k 4508 2+2=4

10 f1 5 1k J: 14 538h 4+10=14
13k 15 7% 14+1=15

1F 2 52 17 0% 15+2=17

19 /PP AR A2 2 2 2

[ A HER R

1. HEF s-m-t-w-t-f-?

2. WARNT, ANE, NERK 6606, Hat—TF, +—H, t—RREA?

3. grass JGIfIN—-Mid], agent B N —ANEia], LRI B, XA AT A2

4. RIHAFIEG Z /0, IAT—HEmRL, W Rsid 75 SOtk 20 KA, St 100
HTRME ] 15 K, 1) JFRAT £ /0 g ?

5. 6 M, FEWFBAE, —FRBARIIM RS A S A —F1) double, EZEEN 8, 13, 1



5, 17, 19, 31, fi—REN, BT 14 LIu KM, FHN— Do 5 RupA?
6. WEkdzy, R 61, ZEXT 40y, WAREIERS L, BIEA 1R, ReBafRe
= AN ¥

B 2 T ) At
L HBAL (2505,
2. RN —FF T A4 2
3. WIRRYIRF IR L 300 42, AR EARBALIN PR 42

™ 5
1. 10 A4 4 AU
2. wiA:
78910
61211
54312
16 1514 13

WL ARRR S (0, 00 77 AARRY (—1, —1) gwE AP, TR
R ANALSR (XY Z 5 o AR A
3. #include<stdio.h>

/lexample input and output

/in1230ut131

//in 123456789 2 100 out 123456789 100 21

long mex(long a,long b,long c)

{ long d;
if(b==0) return O;
if(b==1) return a%c;
d=mex(a,b/2,c); d*=d;iX H.55 T ;d*=mex(a,b%2,c);d%-=c;
return d;

}

int main(void)

{ long x,y,z;
while(1)
{ if(scanf(%d %d %d,&X,&y,&z)>3) return 0O;
if(x<0) { printf("too small\n");continue;}
if(y<0) { printf("too small\n");continue;}
if(z<1) { printf("too small\n");continue;}
if(y>z) { printf("too big\n");continue;}

if(z>1000000010) {printf("too big\n");continue}
printf(%d %d %d,x,z,mex(x,y,z);



34
WX, HOm— A, S, W mA 131 Wit 123 fr A
123456789 100 21 #iith 123456789 2 100

JTHIH R

1. S 2 — SN, . REG 2 OMR, =MUER. dEstiRAAR, kid
B R SRR R 1R R 2 — S U B R R A4 (R R M oo i s 3
CEAEYE?

2, EPEENE F SRR, ORI BN AR R BRI SE T, il IR
MBS

3. i B Rl LU ke —IE ARSI — S5 e 2 B (TR AL, Wl AE e o B B
FEMZ NG e BRI AR . —IERIRE—DNRACRYT, AHBCH AR EAL S
B R IRV, AR G 1] TR EE s B R LK KA WA AR B,
SRR T, pRizinfrab B SEDUIE S A WE S B WLEAM, fRUNTHE A 5 B ik
N ABELE B HARHEED .

4, EAEEUELL “AEARAKRE” HEATERS, IRUniL.

5. FLIE A N6 D i Mg PR PR TG P8 Y M L VAL BRI (H iy 2 KIS A AR 1Z
SRR IZ LA dUlo 2 98, 10 H R, 1k XUVCK T 2 3, Ja SRAESRE i Xk K
1 - I aitAT LS.

& (MBI R O [ $E 8R4 (B)
1. THIFRE C 865 9B —/ XU B R A 7T 4k S MR
typedef struct doublecyclelink{

int key;

struct doublecyclelink *prev;

struct doublecyclelink *next;
}DoubleCycleLinkT;
DoubleCycleLinkT *findKey(DoubleCycleLinkT *link,int key);
s I EEAN RGN FER, B 2E A5 key (EAHRI IS, (B g, JFiR[H,
A B R FN R A NULL.
2. W R FPATEN R 21 &Y

*

* % %
* k * *x

* k *k k%

void printTriangle(const unsigned char line);
BNATHL ATEN=AAE
3. T HIARHE C 15 5 LB R AUbRAEERRH, vt o ANA AT A 26 R 2

char *strstr(char *strl,char *str2);



AR strlvh, SR str2, A HRBNR BRI ALE, 5 0R[E NULL.
4, 1 IXBASE I 2 b UK 2
main()
{
char i=0;

while(i<10)

{

if(i<l)continue;
if(i==5)break;
i++;

5. JHTUAL P fiES#define W] — M EL, HILAGRW] 1 4Erh AT 2 /00D RN FE 4 i) 0D
6. 5 MIZTT main KA A AREA R ?
main()
{
int x=10,y=3;
printf("%d\n",y=x/y);
}
7. AL R R
#define P 3
void F(int x)
{
return(P*x*x);
}
main()
{
printf("%d\n",F(3+5));
}
FEFPIsAT Ja 14 45 2 ?
8. A int 24Ny, char (ff LAY, float fdy 4 T, E X nE:
struct stu
{
union{
char bj[5];
int bh[2];
}class;
char xm[8];
float cj;
Ixc;
] sizeof(xc) {42
9. i#n traceroute 1) T4 i 3



